1. No Error

2. Correct Answer: B

Explanation:

Either requires a singular verb: change are to is.

3. No Error

4. Correct Answer: B

Explanation:

Change the comma to a semicolon. (There are two complete sentences.)

5. Correct Answer: C

Explanation:

The verb are should be changed to is to agree with the subject, value.

6. Correct Answer: C

Explanation:

With the “neither... nor” construction, the verb agrees with the noun after the

“nor”. Therefore we should change has to have.

7. Correct Answer: A



Explanation:

Never put most before unique. (Unique is already a superlative.)

8. Correct Answer: B

Explanation:

For pronoun continuity, change one to you.

9. Correct Answer: D

Explanation:

Ambiguous pronoun. Does the evidence support Darwin or Wallace, or both?

10. Correct Answer: D

Explanation:

You cannot use they or their when talking of a country or city.

11. Correct Answer: B

Explanation:

“Alot” should be two words >>>> “A lot”.

12. Correct Answer: B

Explanation:



Comma splice error. Change the comma after the word pressure to a semicolon.
13. No Error

14. Correct Answer: A

Explanation:

While should be used for simultaneous actions. Change to though.

15. Correct Answer: C

Explanation:

Ambiguous pronoun. Is it Cynthia or her mother who is refusing to attend?



